8030 [26'-5"]

A s070[16-8] —

8030 [26'-5"]

A s070[16-8] —

/— 1890 [6'-2"] —#—— 3180[10-6"] ———~

+— 1890 [6-2"] —#—— 3180[10-6"] ——~

1 1

1 443 d 0 H d

\ A

A—— Leellosly ————~7 44— LIl ogee
/A—— Lablogge ———7

W OT6 = vstaulag
‘2W 0G'E = vaJy

= 1140 pp,

Area

n —‘ —'_Nm :N.@N :V.@N _MUN __m_m —' :@.@ _‘ __N_m _‘ __D —L@ __N_w __m_m
0k 6 8 / 9 G 14 € ¢ 0
00k 18RS F——+—f—F—f——t—— e
[.L1-€9] 0EV6L
[oo] ovesL [.z-.€1 096
10340 [34']
~—— Le-olloie 7230 [23'-9"]
_ _ |
el T T gl ¥
| Bi==E= )
,ﬁ\ : VE 020E = arstiid W W,u ]\ ﬂ “.:M
2W 060y = vauy == = S
aw ~ Suiar] E== _g
STA) === iy
/ e F|)
== == « o
=5 % g
“““““““““ =1
|
w%

[.L1-€9] 0EV6L

[oo] ovesL 4 [.z-.€1 096
A—— Leellosly ————~74——— Li-L1logee 10340 [34'] 4
A—— Lblogge ———~ ~—— Le-ollotie 7230 [23-9"]
2u 0gE = vauy o o
o, o,
—~ Bedroom C B  re— g g
@ Area = 1330 m2, e e
=) Perimeter = 1470 In A “ Dw,om u@mpmsr‘aa
= C ] : 2W 0607 = 0ady .
s ) Li-4 1 09ge f ) Surary o
Leedouy ———+ o B W Surui(q W
£ 8 — =
2 t— Le-d &g o ¥ uoyIIIY R
& S & : 2]
= [Io] o
—— g =% | L6-v1l 08y L1logee ———~ S| =
| i 3 = m‘m S
W |l Ensuite W 1 s 8
t } Area = 350 m2, I M )
m m Perimeter = 7.60 lm W W | 8
. . T T
- | W I I _ _l_ % ﬂ
W , T I ﬂ
W il _ U _ 15 il I WIW ©
Area = 660 m2, = =
Perineter = 12.10 (m _wOQH.OOE A =] W =
Area = 1060 m2, > A
- Perimeter = 1310 | - =
] [ "5 F S
. g 58
Ensuite <
fre = 390 e, N l.1-011 090¢ = °
Perineter = 840 In \% :“ W
I AN
¥
L At 1

#— Lg-9l096l —
A——— Leellosly ———~7+4— Leosec —~

A—— Le-ellosoy ———— Lol-zlosee —~

— Le-6loose —~

[.g-ze] 0z89

#~—— L1-0ll090e ——~

[oo] ovesL

[.L1-€9] 0ev6L

OO0 }: | 8edS

QNUN/ | [oAaT]

O0L-} - &V



AutoCAD SHX Text
Area = 11.40 m2,  Perimeter = 14.50 lm 

AutoCAD SHX Text
Area = 3.50 m2,  Perimeter = 7.60 lm 

AutoCAD SHX Text
Area = 13.30 m2,  Perimeter = 14.70 lm 

AutoCAD SHX Text
Area = 10.60 m2,  Perimeter = 13.10 lm 

AutoCAD SHX Text
Area = 6.60 m2,  Perimeter = 12.10 lm 

AutoCAD SHX Text
Area = 3.90 m2,  Perimeter = 8.40 lm 

AutoCAD SHX Text
Area = 40.90 m2,  Perimeter = 30.20 lm 

AutoCAD SHX Text
Area = 5.50 m2,  Perimeter = 10.80 lm 

AutoCAD SHX Text
Area = 3.50 m2,  Perimeter = 9.10 lm 

AutoCAD SHX Text
Area = 3.50 m2,  Perimeter = 7.60 lm 

AutoCAD SHX Text
Area = 10.60 m2,  Perimeter = 13.10 lm 

AutoCAD SHX Text
Area = 6.60 m2,  Perimeter = 12.10 lm 

AutoCAD SHX Text
Area = 3.90 m2,  Perimeter = 8.40 lm 

AutoCAD SHX Text
Area = 40.90 m2,  Perimeter = 30.20 lm 

AutoCAD SHX Text
Area = 5.50 m2,  Perimeter = 10.80 lm 

AutoCAD SHX Text
Area = 3.50 m2,  Perimeter = 9.10 lm 

AutoCAD SHX Text
Area = 13.30 m2,  Perimeter = 14.70 lm 

AutoCAD SHX Text
Area = 3.50 m2,  Perimeter = 9.10 lm 


	Sheets and Views
	Model


